1.

@ 2a(x+5)(2a-1) @ 2a(x-5)(a+1)
@)2a(x-5)(2a+1) @ 2a(5 - x)(2a+ 1)
® 2a(x-5)(1-a)

4a?(x - 5) = 2a(5 — x) = 4a®(x - 5) + 2a(x - 5)
=2a(x—5)(2a+1)




2.

2x—y =3 &, \V2x+y 7t AA57T HA W= 7P &2 F 2
AL x =7
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B )
2x—-y=3=>y=2x-3
V2x+y=V2x+2x-3= Vix-3
x = H&% 7P A2 T 4291 10 o]4olojof st =,
T8 O AlFge 72 o]4do] Hojof jtr}. (V4x10-3 =
V37> 7?)
SoVAx-3 =74 o, x=13 o]Bg Y3t
SLx=13




b= A o, a2 + 2ab + b2 9] FH2?

® 2 @ 3 ©Y @ 5 ® 6

a2 +2ab + b2 = (a+b)?

2-v3 2+3\’
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